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QUESTION 1

You manage a WLAN with 100 802.11ac access points. All access points are configured to use 80 MHz channels. In a
particular BSS, only 40 MHz communications are seen. What is the likely cause of this behavior? 

A. All clients implement single spatial stream radios 

B. The clients are all 802.11n STAs or lower 

C. The AP is improperly configured to use only 40 MHz of the 80 MHz allocated bandwidth 

D. The short guard interval is also enabled 

Correct Answer: B 

 

QUESTION 2

What phrase defines Equivalent Isotropically Radiated Power (EIRP)? 

A. Power supplied from the transmission line to the antenna input 

B. The power output from the radio after cable losses 

C. The power output from the radio into the RF cable 

D. The highest RF signal strength that is transmitted from a given antenna 

Correct Answer: D 

 

QUESTION 3

Return Loss is the decrease of forward energy in a system when some of the power is being reflected back toward the
transmitter. 

What will cause high return loss in an RF transmission system, including the radio, cables, connectors and antenna? 

A. The use of cables longer than one meter in the RF system 

B. High output power at the transmitter and use of a low-gain antenna 

C. A Voltage Standing Wave Ratio (VSWR) of 1:1 

D. An impedance mismatch between components in the RF system 

Correct Answer: D 

 

QUESTION 4

You are attempting to locate the cause of a performance problem in two WLAN cells in a mostly overlapping coverage
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area. You note that one AP is on channel 1 and the other is on channel 2. When you document your findings, what term
do you use to describe the problem in this configuration? 

A. Bluetooth interference 

B. Non-Wi-Fi interference 

C. CCI 

D. ACI 

Correct Answer: D 

 

 

QUESTION 5

What statement describes the authorization component of a AAA implementation? 

A. Validating client device credentials against a database. 

B. Implementing a WIPS as a full-time monitoring solution to enforce policies. 

C. Granting access to specific network services or resources according to a user profile. 

D. Verifying that a user is who he says he is. 

Correct Answer: C 

Reference http://searchsecurity.techtarget.com/definition/authentication-authorization-and-accounting 
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